2. Whereis it found?
It is found in the Arctic, in
North America, and Russia.

] »‘\ ' '

ACTIVE
LAYER

PERMAFROST

3. How does it help?
Plants take in carbon
dioxide. When they rot
Into the ground, the
carbon dioxide and
methane gases are
trapped in the
permafrost.

1. What is permafrost?

It is a layer of permanently
frozen soil and rock found
under a layer of soil that is
not frozen all year.




4. What is happening?
As the climate warms,
permafrost melts and
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6. How does ‘rewilding’ help?

Large herbivores remove large plants,
leaving grassland. This reflects more
solar radiation.
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They also trample the snow, making
sure that the ground below stays cold
- keeping the permafrost frozen!
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